Dr. ZABDAWI



MATH 1111
Synthetic Division:

The synthetic division is a short cut method used to divide a polynomial of degree (n) by a binomial in the form (x-a) of degree (1).


Example:  Let 
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Therefore, the synthetic division can be used to factorize, or to find the roots of a polynomial.

T.F.A.E.  (The Following Are Equivalent)
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Example II:  Let 
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  Find all the roots of f(x).
Notice that f(2) = 0.  This implies that x = 2 is a root and (x-2) is a factor.  So let’s divide f(x) by (x-2).
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Therefore, the roots of f(x) are: x=2, -4
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